M = 0 & LH & A
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S RS . B B = == O] &F oK JIE Ol &HH Hons2 & E2A
= Al 8,612,570 4,805,906 3,806,664
MOt=S S AL 8,612,570 4,805,906 3,806,664
MOI22S 2483 1,996,603 554,994 1,441,609
MOE22s &8 1,996,603 554,994 1,441,609
MOIS2s 8483 449,928 374,994 74,934
201 B2 | 41,726 11,660 30,066
40,906 10,840 30,066 |01 AtR2eld| 30,066
O1.det+=ZH| 22,290
-ABt~ZH|(2Y)
A& 6,840,000& - J1& 7,600,000&= AT60)
-MOts2sF2 8,500
MOIE2 #2¢ 3,500& *1,000& = 3,500
*MOED! 20100 =& 50,000& x1007= 5,000
-HxgleEiE 284X 1,650,000& *3I1 0t == 4,950
-MOtS0t3tI0l 28 =88 ME S J|E==&b|
9,600,000& *14!= 9,600
O5. &I (&)
d3& 2,916,000& - JI& 3,240,000&= A 324
O6. 81t = 8,100
-MOtZ20t2t0I0l 2Y g dXt=s
450,000 3 x20H *33|= 8,100
202 04 d| 6,480 7,200 AT20
6,480 7,200 AT720 (01 =WHHYI NT20
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26,388 30,000 A3.612|01 iyl A3,612
OMOISSSSATOIHY 242)DSARIAIR
= (22) 6.388,0002 - JI& 30,000,0008!= A3,612
301 LerE A 116,234 103,634 12,600
116,234 103,634 12,600 |10 SHAFAIHIE 12,600
OMOISXISRHTHE DS 0H| 24
60,0002 * 142 * 132 = 10,920
0220 MIIZSSS NI 24
7,0008! +80% *3 = 1,680
303 TAHZ 7,100 0 7,100
7,100 0 7.100|01 ma2 7.100
OHAISl DHDO)| 25 A& 7,100
“F2A(10) SHE) 2,000,000 *14l= 2,000
—e A2} SHE) 2,500,000 *141= 2,500
~E(4) SHE) 2,600,000 *14l= 2,600
307 21201 & 252,000 222,500 29,500
29,500 0 29,500 |02 QI2tHAR R 29,500
OMOISXIEX, 2145 SHSAIAXR (LTI} A
43) 17,000
—Fe4 5,000, 0002 *17§ £+ Xl = 5,000
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OMOIE224Hs &t o472 250,000& x50¥ = 12,500
JIHMOISO 82 HE(BX) 1,408,675 70,000 1,338,675
401 AlEHIL 2] 1,408,675 70,000 1,338,675
1,370,000 70,000 1,300,000 |04 Al&HI 1,300,000
OJIH MOIE J1E2 HESAH(S 1 60080t )
&8 1,370,000,000& «14) - J|& 70,000,000& = 1,300,000
(S &4 600,000 J| & 0] [E 600,000]
(& &3F 700,000 J| & 0] [= 700,000]
25,758 0 25,758 |05 =22l 25,758
OMOIE2I1E2 HE S A 22l 25,758
e 2,048,000,000& x1.09/100= 22,324
-&0], 84 170,000, 000& *2.02/100= 3,434
12,917 0 12,917 106 A& 208l 12,917
OMOI2J1E2 HE3AF AIE20H Y]
1,370,000,000& +0.36/100= 4,932
OMOISJIE2 HE3AI sAEERYZ
53,232,000& *0.5+0.3= 7,985
MIUSXSIXNEESAEFE(EX) 28,000 0 28,000
307 QI2t0l A 28,000 0 28,000
28,000 0 28,000 (02 QIZHFAAME X 28,000
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2,418,329 1,536,339 881,990
401 Al & HIY 0,418,329 1,536,339 881,990
56,200 40,975 15,225 (02 &1 Al& H HI 15,225
OARDFOISSAAIY AAIEHH (R2)
215 36,875,0002 - JIE 40,975,000 = A4, 100
Oas Z=2| 02T AN SXZA &AL
HlBl 250,000,000 *3.73/100= 9,325
OARDFOISAALS AAIZHH 10,000,0008 «14!= 10,000
2,350,937 1,490,000 860,937 |04 Al&H| 860,937
ONEBE 5IE12] LISY A ZAHED)
2™ 77,000,0002 - I 80,000,0008!= A3,000
Ol OIF~[f2 HARI2 S22 SHTHDAH(ARE
M2 1002 0r2l)
21 200,000,0002 - JI& 100,000,0002= 100,000
Ol BiXp| S2EEDAH(EZY)
2M 57.137,0002 - JI& 60,000,000 = 2,863
ORHS 222 ME L 525 FHHIDAHERZ)
21X 63,000,0002 - J|I& 70,000,0002 = A7,000
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70,000,002 +14/= 70,000
O2d 2E12 MEZUIZA  80,000,0008x141= 80,00
OTEBE REH62 YTSH HII2A
80,000,002 +14/= 80,00
ONB EH22 SHAZ HXBA
30,000, 0008 14} 30,009
O%Y Z12] 42 FUIDA 60,000,0008x141= 60,00
OSo 2eoel DISVUHTRRA
50,000,002 +141= 50,00
OJ BHAGHE SOEXIBA 70,000,008 «141= 70,009
OFot 2512/ 42 L =ZHHIZA
70,000,002 +14}= 70,009
OS# w100 DISTYRETITAI
90,000, 0002 » 141= 90,00
OSoh 2212l 52 HTRBAH(E)
25 73,000,008 - I = 80,000,0008i- A7,000
ORI Qo2 1S 01AR BHBAHZ)
2 76,000,0002 - I3 80,000,002 = 74,000
OFBE GIE1R LB SXBA
80,000, 000 *14l= 80,00
ORME MK FHTHIZA 15,000,008 *141= 15,000
OUfs 2tAR2I DI2 0 ERBAHI2)
27 56,000,008 - J1E 60,000,008 4,000
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OdlZ EM22 SHI=2 EX2AHEL)
A 65,000,0002 - JI& 70,000,000 = 25,000
OHG s¢ot2 I H&E 24H AXZAHEZ
Z3A 65,000,000& - JIA 70,000,000 = A5,000
Oxet et 2 (5 Fe) IS 20l X ZAHE
2) A& 90,000,000€ - JI& 100,000,000 = A10,000
OJIAH =2l ME HUI2AHEZ)
A= 66,000,0002 - JI& 70,000,000 = 24,000
O=%& sHeal o2 TEDAHEZ)
ZA 56,000,000& - JIA 60,000,000 = 24,000
OJI2 2J12] =2 ZEZAH(EY)
A 56,000,0002 - JI& 60,000,0008= 24,000
OScH LeHoe| OISEAZ2 AXZAHER)
ZA 77,000,000& - JIA 80,000,000 = A 3,000
OFZH el 42 AXSAHEZ)
A 57,000,0002 - JI& 60,000,0008= 23,000
O2A Zde| 42 HHIZSAHEZ)
A3 75,000,0002 - JI& 80,000,000 = 25,000
ORANBZH B2 1,500,000 *6IH A= 9,000
11,192 5,364 5,828 (06 Al&=2CHHI 5,828
OF0I=2A AL A LOHHI 925,000,000 «0.63/100= 5,828
AFE FO=RAAL(EX) 359,790 229,790 130,000
401 Al HI L2 359,790 229,790 130,000
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350,000 220,000 130,000 |04 Al&H] 130,000
OQFHS 24 Hi&ZAIY 70,000,0002 *14!= 70,000
= 35,000]
[Al 35,000]
OW&2 U2l =X52 =9 B 0LAL
60,000,0002 *14!= 60,000
= 30,000]
[Al 30,000]
HEUS0IS FUSIAAY(BE) 88,400 0 88,400
401 AlZHIZL 2 HY| 88,400 0 88,400
1,434 0 1,434 (02 & Al HHI 1,434
O=Z0 =22l DI252 = AALHH
20,000,0002! %7 . 17/100= 1,434
86,966 0 86,966 |04 Al&H] 86,966
O=Zol (§322] METHZAHSHAZ 2 S4xy
2=) 29,600,000 *1A!= 29,600
= 14,800]
[Al 14,800]
O=Z0 =2}l DI252 ESTAH(YHE 2 02
glat S5) 27,966,0002 *141= 27,966
= 14,700]
[Al 13,266]
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OZHO 522 0129 TRTA
29,400,002 141= 29,400
(= 14,700]
[A 14,700]
s =152 2 1,750,905 1,147,545 603,360
ZEIEMWRINPEPIT 50,905 147,545 3,360
401 AlEHIL ST 147,905 144,545 3,360
6,897 3,537 3,360{02 AlAl& ] 3,360
OUESB SXSIB SSJA AAILHHI(R)
23 3,360,002 - JI& 3,537,0008= ATTT
OFIIYSNE BETA A&
70,000, 0002 *8.42/ 100%60%= 3,537,
FEI SHEXHB A 1,600,000 1,000,000 600,000
401 AlSH L LY 1,600,000 1,000,000 600,000
1,468,920 868,920 600,000 [04 Al & H] 600,000
OTEESO=TE2 AYDA(ST 60022)
A 1,468,920,00090 %141 - J1F 868,920, 000%= 600,000
(s 23 600,000 71 & 0] [S 600, 000]
0 ¥ BHo =2 366,717 262,993 103,724
SIRAHIA HID 366,717 262,993 103,724
DY 2y 20,921 101,115 19,806
101 2121t| 3,892 0 3,892
3,892 0 3,892|10 JIZMZ2RSE4 3,892
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OWAYREX 22 32,4003 x1H «22 U x5 E = 3,564
O4tHEd Jl&a2Y3 3,564,000& *9. 185%= 328
2otz d 61,040 55,103 5,937
54,680 47,900 6,780 01 AtR22lHl 6,780
O1. et==2H| 5,880
-2B=-ZH| (2 Z)
33 19,380,000& - J|& 23,200,000 = A3,820
-HRAMHA E4E S HAR
70 *30,00001x2&= 4,200
M HES 4,500
= 250,000 *20H &= 500
el 2R, AUHE S 2003 +10, 00001 *2&= 4,000
-HALRFE AREE Y 500,000 x23]= 1,000
O4. I =HI(B&) A 1,200
- 22K 222 2Y(AL,P,89S)
33 18,300,000& - J1& 19,500,000&= A 1,200
Ob5.2 &l 2,100
SORIAEAYASY S2X SA
7,000&x6H 10 x5& = 2,100
6,360 7,203 ABA3|102 23224 A 843
O1.23234HA(EL)
38 5,160,000& - J|&E 5,640,000&= A480
O3 AlE&HIRABI(EZ)
33 1,200,000& - J|& 1,563,000&= A 363




S A MOISEAND
N oM ox0 MN MO O e
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202 01H 8.016 8,640 624
8,016 8,640 AB24|01 =UOIH] A624
O=U0IHI (B2
2% 8.016.0008 - I X 8.640,0008= 624
301 Yyt A 21.867 22.032 A 165
15,655 15.820 A1B5 (10 BAIAIHIE AL A 165
ODIDUE MAT AsH(H2)
2 22350002 - JIE 2,400,0008= A 165
303 LA 900 0 900
900 0 90|01 maz 900
OOz DIYRIT S4208 AAD
4500002 x23] = 900
405 THAHE = 25,206 15,340 9,866
25,206 15,340 9.866 |01 TALSEH = 9,868
O Pl 3,000,0002 %10} = 3,000
ONATAE 27| 2 600, 00021 *1CH= 600
ONATAZ AM 2o 3,300,000 *1CH= 3,300
OBIAAE U BIXUAME XA (E2)
2% 13,806,002 - J| & 15,340,0008= A 1,534
OO S CIXE AAEY AlAEDQ
4,500,000 *1CH= 4.500
200ALTHT 29 217,938 161,878 56,060
201 LS o] 37,938 41,878 A3,940
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5o iaan e SER-CD
Ct 2 IRANHIA KD
Ll SR E B B[R 3= Off &k OH J1E Ol AkoK Hns2 M4EZ2
9,276 10,072 AT (01 AtRZ2IH] AT9
o1.%t¢+¢%u|(§%)
23 9,276,0002 - JIE 10,072,0008= AT9
28,662 31,806 A3,144102 B2=2%H| A3, 144
O3. AIEFHISXHI(B)
27 28,302,000 - JIE 31,446,000 = A3, 144
405 XHAHE SH 180,000 120,000 60,000
180,000 120,000 60,000 |01 XML SEFSH 60,000
ORe2IAL3I| DH(AE, LES, EHE)
20,000,0002 *3CH= 60,000
IEBHEE(EX) 27,858 0 27,858
101 Q124H| 7,783 0 7,783
7,783 0 7,783[10 JI2tM22XSE 7,783
OJIE3H S=E(d - =277) 7,783
-0l 32,4002 2% *110L = 7,128
= 7,128]
-4UEE J2AReS 7,128,0002 %9 185%= 655
= 655]
201 LErR29| 20,075 0 20,075
20,075 0 20,075(01 AR 22/H] 20,075
O1. LBt 24| 10,065
SEDH SE= JIES2H(RE, 29)
10,065,0002 * 141 = 10,065
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DI2AMEIA ML
M- B2 - A e JIE O AkH Hlns2t & E 2 H
= 10,065]
10,010
y,89)
10,010,000 14l= 10,010
10,010]
SANELE 414,391 379,547 34,844
ASAMELS =& 414,391 379,547 34,844
N2SAHHEHZ2E 2 243 238,000 208,000 30,000
307 giztol & 238,000 208,000 30,000
58,000 48,000 10,000 (04 QIZFHALE X 10,000
OM11al Z&Al XHASALA Z4AHH 3
10,000, 0003 14l= 10,000
180,000 160,000 20,000 (05 QI2tRESZ 20,000
OXESAMEH 2ZH
& & 170,000,000& - J1&™ 150,000,000 = 20,000
NHASALA 2tel 2 54 65,724 68,260 A2,536
201 LBt2ZH| 27,087 27,030 57
24,747 24,430 317 ({01 AtR2teltl 317
O1.dBt=2H| 875
et SH|(HY)
3& 10,125,000& - J|& 11,250,000 = A1,125
- NFSA SR USH ME 2,000
OIZ M HMIZ(100A12F) 10,000 * 100 = 1,000
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S 9 NSAEANS =X ool dd
SN ED O AR D2 Off AF o4 INH ol AboH HR=2 A E 3
S OIZ= Al HIZH(300A12}) 50,000 +20% = 1,000
03.2%4g 532
KGR SAIN, Sote), M& S DA
22) 2N 1,512,0008 - JI= 1,680,0008= A 168
SUHRISAFMIE AED|2 2D2AIY AAISIR AT
= 70,0008 102 *13]= 700
O4. 12| A300)
_HEAZRATHEAG TR (R )
2™ 1,800,0008 - J| & 2,000,0008= A200
_HSAZRATESAIG DI RH(E )
23X 900,0008 - J|= 1,000,0008= A100
O5. 2HI(EZ)
2™ 3,870,00082 - J| & 4,300,0008= A430)
06.2xtE A360)
“RHEEA AEEAL L MBS A AR (H
2) 2N 3,240,0008 - JI= 3,600,0008= A360)
2,340 2,600 A260 (03 A2 DY A260
OXASATH TS (S, 2 N, I ) (B
Z) 2™ 2,340,0008 - J| = 2,600,0008= A260
202 014 3,564 3,960 A396
3,564 3,960 A396 |01 ZLHOIH] 396
OZUH0iHI(BZ)
2N 3.564,0008 - J|= 3,960,000 = 396
206 T2 bl 1,800 2,000 A200
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HOM o QAZABAL P
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N E o= T [ = Ofl &b ol IIE of Ak Hm=2 A E 2
1,800 2,000 ~200 (01 HEbI A200
ORNSASAIZE B (R, OHHEN S)(BZ)
2R 1,800,008 - JIE 2,000,0002= 200
301 YptBAZ 9,468 10,520 1,052
9,468 10,520 A1,052|10 BALAIHI B AIZ 1,052
OBALAH B AR (R
AR 9.468,0002 - J| & 10.520,0008!= A1,059
405 RHAHE S| 8,505 9,450 945
8,505 9,450 A945 |01 TR ez sy ~945
ORSSA B=os(DtUe X Bel) SRR 7
2(2Z) 2m 5,400,0002 - JI= 6,000,0008= AB00
ONES A i=os (0l K22 )ERMYI| DU
HTE(EZ)35 1,890,0002 - JI& 2,100,0008!= A210
ORNRSA o (DY K 2el )2 TE T (=2
) A 1,215,000 - J| & 1,350,0008= A135
A2 X (EX) 23,772 16,392 7,380
307 0120 & 23,772 16,302 7,380
23,772 16,392 738006 22 7,380
ORASA AHEE It
AR 23,772,0002 %141 - J|H 16,392,0002= 7,380
EEE 11,886 JI ™ 8,196] [= 3,690]
(& 23X 5,043 J| & 4,008] [= 1,845
(Al 2= 5,043 J| & 4,008] [Al 1,845
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At MOHS S Akt

VIR RN R E R = O &k o IIE Ol ko HR=2 a4 E2H
MRS TAIDZ XA 1,156,732 632,523 524,209
2zng e 355,945 116,890 239,055
Z0e e 45,660 46,890 A1,230
20,160 22,340 A2,180
20,160 22,340 A2,180(10 JIZHMZ22XSES A2,180
OJIZHNZ22USE4(EHY)
23X 20,160,0008 - J|& 22,340,000 = A2,180
Aot 17,170 18,850 A1,680
9,430 10,250 A820|01 AtR22|H A820
O1. L4224 (B2)
AF 5,450,0002 - JIA 5,800,0008= A350
O3.2g89=+Y A 200
~Z NSNS BFHLY(EY)
23 1,550,000 - JI& 1,750,000®= A200
O5.2 &4l A270
“EAIDIZ YR OAZ2X SA
23X 2,430,0008 - I 2,700,000 = A270
3,240 3,600 A360|02 SB29H| A360)
O1.3222LHA A360
-AAH EE2XEE IR (EY)
33X 3,240,0008 - JIE 3,600,000 = A360)
4,500 5,000 A500|03 SAI2HH A500)
ON133 F=E=2AZ NS HAZ2H HE(BZ)
2 4,500,0002 - JI& 5,000,000 = A500)
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202 01Hl 2,430 2,700 A270
2,430 2,700 ~270 (01 =UHOHH] A270
O=zne o2 oasl 4 ZXOH(Z)
2H 2,430,0002 - I 2,700,000 A270
303 TAS 2,900 0 2,900
2,900 0 2,900 (01 ZA3 2,900
O=9zne el It 2,900
-zl R4g 1,000,0002! 14 & 1 S= 1,000
—24g 500,0002 x27H S 21 S= 1,000
e 300,002 +30H S & S= 900
EPTES &3 109,030 70,000 39,030
401 Al EHIL RO 109,030 70,000 39,030
109,030 70,000 39,030 (04 Al&H| 39,030
OAIIN =% #al HHIA (H2)
243 18,000,0002 - JI& 20,000,0002= A2,000
ONFEST HH| 41,030
SERUT(AFA YSH) 110,000 <250 +1 0= 27,500
~EPEH(HYS PWel) 10,0008 *40m x281= 8,800
~2R2EH (SR8 XF2l) 110,008 543 «18i= 4,730
S DNSHUIAIY(2F) 201,255 0 201,255
301 BB A 5,750 0 5,750
5,750 0 5,750 [10 SAHAIHI 24 S 5,750
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SA BB O N - D2 Of] &b o I ol ko HDE2 & E 2
OSHZ NS HHAANI L AHEHS 220 T
g a4 7,000 x50 *52 = 1,750
= 525]
[Al 1,205]
OS2 DS MU0 M2 DEH S 24
20,0002 * 102 *45| 52 = 4,000
= 1,200]
[Al 2,800]
401 Al&EHI L2 195,505 0 195,505
20,000 0 20,000 (02 Al AI&HHI 20,000
OOFECIS 2HEBFSI| A XI A AI& b
20,000,0002 *14!= 20,000
= 6.000]
[Al 14,000]
174,250 0 174,250 |04 Al & H] 174,250
O=22Z2De HHAY 174,250, 0008 *14l= 174,250
(= 52,275]
[Al 121,975
1,255 0 1,255 06 Al& S Chl 1,255
O=S2ZDS HHIAIY A& 2]
174,250,0002 %0.72/100= 1,255
A ES X A0S 800,787 515,633 285,154
BIONE DS XA (X)) 11,052 12,290 1,238
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201 Ler2 | 5,710 6,380 670
5,710 6,380 AB70(01 At Rl 670
O1. et 24| 400
~AJ|ES X S0HS)| AHEAN L EER0S
IE(E2) 25 3,600,0002 - I 4,000,0008= A400
02.9l e D] A100
~ADIES XoBHED| YIS DS (B2
23 600,0008 - JI& 700,0008= A100
03.29+Y ATT0
SAJIZES DI2OHRD| KA AR BA AL
22)  HF 1,510,0002 - JIF 1,680,000 = A1T0
202 01 972 1,080 A108
972 1,080 A108(01 20 108
OMIIES XNABED| YBEF OfH|(B)
ZH 972,0002 - JI & 1,080,0008= 108
301 LeHE A 4,370 4,830 460
4,370 4,830 A4B0 |10 BAFAHIZ A 460
OBAAHI A S (RY)
2N 4,370,0002 - I 4,830,000 = 460
A ZESNHDSIIAIY(EX) 789,735 503,343 286,302
207 1P oHLH| 100, 400 0 100, 400
90,400 0 90,400 |01 oimEoHl 90,400

18/20



A MOFSEAD
S R -E T e = 04 4 o NF ol arod HIRE & &2
ORSHAE U NASHE Y APBAY)
90,400,000 *14l= 90,400
[2 90,400]
10,000 0 10,0002 H &N 10,000
OCRENHOtES SHOIX 7= 10,000,000 x14]= 10,000
[2 10,0001
307 2IZ2tol & 70,000 20,000 50,000
40,000 20,000 20,000 |04 QI+EHAIE X 20,000
O&IIZS NARESI| URE D2l0iS =X
2 40,000,002 %141 - JI& 20,000,0008= 20,000
[# &% 40,000 JIH 20,000] [ 20,000]
30,000 0 30,000 |05 GIZtRIEZ 30,000
OXeidt 20l W4 23| 20,000,000& »14l= 20,000
[ 20,000]
ONFER0 2Y L NISETHR 2|
10,000,000& *1&l= 10,000
[2 10,000]
401 A EHI LS04I 619,335 483,343 135,992
592,711 464,261 128,450 |04 Al&HI 128,450
O&IIES NAVSI| URES WE|
Z&E 592,711,000 14! - JI&E 464,261,000& = 128,450
[# &% 406,711 J1& 464,261] [& A57,550]
[Al 2F 186,000 J| & 0] [Al 186,000]
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OADIES KAEIAY AL 2
23 592,711,00024+0.63/100 - J1& 3,343,0002= 392
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